MATHS
You must complete at least one task out of A B C. There is some extra work at the end if you wish to try it.
A
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Extra work
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Order of operations 
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46 + 143 622 - 438

3002 + 2218 517 x 87
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If 3/4 of an amount is 105,

what is 140?
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If 3/4 of an amount is 60,

If 1/2 of an amount is 90,
what is 142

what is 1,2

If ‘/2 of an amount is 80,
what is 142
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If /4 of an amount is 30, If /4 of an amount is 28, If 110 of an amount is 26, If %/, of an amount is 15,

whatis 149? what is 3,2 what is 5? what is 149?

10.0 "o 120

v
If 1/5 of an amount is 88,

what is 150?

If 110 of an amount is 46,
what is 5?

If 1/5 of an amount is 62,
what s 140?

If 1/5 of an amount is 64,
what s 50?
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At 2 o'clock the temperature was 9°C. The
temperature increased by 7°C.

What is the new temperature?

20

At 8 o'clock the temperature was 3°C. The
temperature increased by 12°C.

What is the new temperature?

30

At 9 o'clock the temperature was 11°C. The
temperature increased by 10°C.

What is the new temperature?

40 LXJ) :XJ)

At 12 o'clock the temperature was 8°C. The At 4 o'clock the temperature was -14°C. The At 6 o'clock the temperature was 12°C. The
temperature increased by 9°C. temperature increased by 15°C. temperature decreased by 0°C.

What is the new temperature? What is the new temperature? What is the new temperature?

7.0
At 6 o'clock the temperature was 16°C. The
temperature increased by 8°C.
What is the new temperature?

8v

At 5 o'clock the temperature was 16°C. The
temperature increased by 3°C.

What is the new temperature?

LRI
At 8 o'clock the temperature was 7°C. The
temperature increased by 4°C.
What is the new temperature?
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